MAT 012 Lecture Notes: ch 2.5 Rational Equations

Cross multiplication is used if you have exactly ONE rational expression on the left side and
ONE rational expression on the right side. (It can also be used if only one of the expressions is
rational.) As soon as you see more than one term on one of the sides, cross multiplication is not
appropriate.

Ex: 4 2
x+3 x=-2

a) Give the values of x for which the equation is not defined.

K¥ -3 or ye2
b) Solve

4(x-2) = 2(x+3)

bx -8 = 2x+¢ (ormpere
—-2x -2 x
2Zx-& = (
+& +8
Z—X = f"i" _
<z z X=F
¢) State the answer(s).
x= 4
x 1

Ex:

X+6/\x+2
a) Give the values of x for which the equation is not defined.

X¥ -6 or x¥+-2

e
b) Solve
X(x+2)= t(x+6)
XP+24x = x+6

-X -6 -x -6

XZ'I—K-—G:C‘J

C)(-t- 3)(x~-2) =0©

Xt3 =20 or yx-2=0

(.'mf’orc.

-3 -3 +2 2
X=-3 X

c) State the answer(s).
X= =3 or x=12

When solving rational equations, analyze the two sides as well as the denominators.

If one of the given sides in the equation has more than one term (usually an addition or
subtraction of several mostly rational terms) and the denominators are not alike, then
we have to use an LCD (Least Common Denominator) to solve.
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MAT 012 Lecture Notes: ch 7. § Rational Equations
2 1 1
x+3 x-3 x?-9
a) Rewrite the entire equation, but factor the denominator, which needs to be factored.

2 { 0

— —

X+73 X=3 7 (x+2 ) (x-3)

Ex:

b) Give the values of x for which the equation is not defined.
X#3 or x#-3
¢) Give the LCD

(x+ 3 x-3)

d) Solve the equation. [Don’t forget to check if your solutions “candidates” are actual solutions]

2 (x-3) o llx+3) I
(x+)(x-3) (x=3 )(x+3) (x¢3)(x-3)

2(x-3) ~(x+3) O
2x -6 —-x -3 = |
X — 9 = 1
+ g g

e) State the answer(s).

X=10

X 72

- 4
x+6 x*-36

Ex:
a) Rewrite the entire equation, but factor the denominator, which needs to be factored.

X 72 4
+

xt6  (x*tXx-6) T T
b) Give the values of x for which the equation is not defined.
Xt ¢ o XF—6é
¢) Give the LCD
é( + ) x-¢)
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MAT 012 Lecture Notes: ch 7.5 Rational Equations

d) Solve the equation. [Don’t forget to check if your solutions “candidates” are actual solutions]

X(x—¢) _ %z (x+¢)(x-¢)
(x+ ) x—6) (X+6)(x-6) T T(x+e)(x-¢)
z- —
X' b =t o+ 4 [(xvoX x-6)]
T O0=-12 _
X —b x = 17-""1‘-()(-3(.) (xee)( x-4)
L Xt+6z0 o0 y_4-
K'z-(.z = F2 o+ 442 4y P "'Ji
—X t+ bx — x? % P "'——-'i><6
o = 7-2_ +3x1—-)‘9—‘f‘ i ao d—'.-”r_fﬂfd
O = 3x®+Cx- 32
o = 3(5(?--|—2__x- 2.‘1-)
e) State the answer(s).
X=
Fx: 2x-3 2% X

" x+1  4x+4 2x+2

a) Rewrite the entire equation, but factor the denominators, which need to be factored.

2x -3 _ Oy _ X
X+ | 4(x¢1) ] 2(x+ 1)
b) Give the values of x for which the equation is not defined.
XF —| <

c) Give the LCD

4(x+1)

d) Solve the equation. [Don’t forget to check if your solutioys “candidates” are actual solutions]
4(2 x - 3) 2 2 X
4 (x+1) Glxet) = 2.2(x+1)

zf(z,(_-_a,)—zx = 2.
¥x —12 —2x = Zx

bx - 12 = 2 e
-2 % -2 x
Gy -2 =0
+i1Z +iZ
X =2 X=3
e) State the answer(s). g .
Y=



